
CORRECTION - Exercice de calculs n°2 : Identiques ou pas ?  

 

𝐴 = 2 ×  8 +  7 ×  5 −  3              

𝐴 =    16   +     35   − 3  

𝐴 =  51 −  3  

𝐴 = 48                         

𝐷 = 2 ×  (8 +  7 ×  5) –  3  

𝐷 = 2 ×  (8 +  35 ) − 3  

𝐷 = 2 × 43 − 3  

𝐷 = 86 − 3  

𝐷 = 83   

 

 

𝐵 = 2 ×  (8 +  7) ×  5 −  3          

𝐵 = 2 × 15 × 5 − 3  

𝐵 = 30 × 5 − 3                   

𝐵 = 150 − 3  

𝐵 = 147       

 

𝐸 = 2 ×  (8 +  7 ×  5 −  3)  

𝐸 = 2 ×  (8 +  35 −  3)  

𝐸 = 2 ×  (43 −  3)  

𝐸 = 2 × 40  

𝐸 = 80  

 

  

 

𝐶 = 2 ×  8 +  7 ×  (5 −  3)           

𝐶 = 2 ×  8 +  7 ×  2          

𝐶 = 16 + 14   

𝐶 = 30  
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